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General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.
(iii) Part B has two options — Option — I Analysis of Financial Statements and Option — I1
Computerized Accounting.
(iv) Attempt only one option of Part B.
(v) All parts of a question should be attempted at one place.
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gus - &
PART - A

(@ISR GHT T HHEt-Et % fog dais)

(Accounting for Partnership Firms and Companies)

1. T o 9 U RH o WERR S | F WH H ST 3T T Sl YeleT ST 9 o | e &
tffarT saforal s Ut ol o1 St 6 e ST [ ek §RT % | weer et fear
Tl |

Gupta and Sharma were partners in a firm. They wanted to admit two more members in
the firm. List the categories of individuals other than minors who cannot be admitted by

them.

2. T fafds 7 % 10 TF % 100 T ST HT X 2 WA ST H A A=A AR F A T
A T BT K o1 | % 2 Wit 370 Bt S AT St At ST et |

I3 I STHAT M HF TTOAT AT FFH T T 3790 1 GA: 70 o s Fevet € |
Y Ltd. forfeited 100 equity shares of ¥ 10 each for the non-payment of first call of ¥ 2
per share. The final call of X 2 per share was yet to be made.

Calculate the maximum amount of discount at which these shares can be

re-issued.

3. & TN G UH FH F AERER o T AT 4 : 3 % S F dfed & | 3R T R TH T4
TIERR AT | o, @ AT 7T o T F7 O 3TUIT 3: 2 : 2 AT | & = 370 91 &1 L4 AT T

TeT | & €A1 | @ & N i TOMT HiT |

A and B were partners in a firm sharing profits and losses in the ratio of 4 : 3. They
admitted C as a new partner. The new profit sharing ratio between A, B and C was

3:2:2. A surrendered Y of his share in favour of C. Calculate B’s Sacrifice.
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4. U AU 9 Uh BH o GEER & TA7 AN SRR ded o | ST @t geit sEer: 3 1,00,000 qer
% 50,000 o | TSR Foi@ § Ui W 10% ST ST B W@ o | 31 9, 2016 6
U T Y o TIT STt IX ST G {1 %H o TN 3 sIeaRy Y feam 7t |

79 I o I & SNEvIEH GHENH Fafte ST | 1

P and Q were partners in a firm sharing profits equally. Their fixed capitals were
% 1,00,000 and ¥ 50,000 respectively. The partnership deed provided for interest on
capital at the rate of 10% per annum. For the year ended 31* march, 2016 the profits of

the firm were distributed without providing interest on Capital.

Pass necessary adjustment entry to rectify the error.

5.  w femes =7 T 100 U & 1000, 9% FOTT 1 6% & 95 W T R & [T 3Tes
M T | 1,200 0T & 6T o768 U gU | @l STESehi i UM 3R W

3fTsleT &Y fear T |

g UFd U o TRY RT S I STagT & i FHAT A, KO F A A
TSI USTHHET Tt ity | 1

X Ltd. invited applications for issuing 1000, 9% debentures of I 100 each at a discount
of 6%. Applications for 1,200 debentures were received. Pro-rata allotment was made to

all the applicants.

Pass necessary Journal Entries for the issue of debentures assuming that the whole

amount was payable with applications.

6. 1 WK B 1 37T ST T&dcdl Blal & 2 3709 30X o AT | HRUT ST | 1

Does partnership firm has a separate legal entity ? Give reason in support of your

ansSwer.
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TR, TR0, feAmes 7 310 ¥ 100 T & 500, 9% O 572 8% % ag X FHiraa foha
T o, i % 10 YA b TEAT 39 W URErAd AT | SHAT 33 B E 25% & Ao
I fohan T | ST o T WSS Rt ot O 3TuTaitEd Tl [ T € |

3T FHET Bl WAl IV U 9% FOTHT o FHAT S H URE W SEvIE ST
yfaftedt ity |

XXL Ltd. converted its 500, 9% debentures of ¥ 100 each issued at a discount of 8%

into equity shares of ¥ 10 each issued at a premium of 25%. Discount on issue of

debentures has not yet been written off.

Showing your workings clearly pass necessary Journal Entries on conversion of 9%

debentures into equity shares.

%, W, AN T UK FH F TR 4 qA 3 :3:3: 1 % A H A ded I | 31 A,
2017 I ° 7 TR TEUT (1 |, @AM T A AT@ H e 52 1 : 1 & 3 § dfe
1 T foTa | &1 o 31Tt TET e WX ®H i AT &l Jodis T 4,90,000 T2 T |

U FIAHRT ool ot T I §U H % TR TeUT FA W @AM & @ik o fIw &
1 &I H SERIH S Hfafe Hig |
A, B, C and D were partners in a firm sharing profits in 3 : 3 : 3 : 1 ratio. On

3187 anuary, 2017 D retired. A, B and C decided to share future profits in the ratio of
5:1:1.0n D’s retirement the goodwill of the firm was valued at ¥ 4,90,000.

Showing your working notes clearly pass necessary Journal Entry for the treatment of

goodwill in the books of the firm on D’s retirement.

3MepTeT fefaes T 10 U o 99ar 3190 H faws T 8,00,00,000 i 3usa Uit & |1d
USTehe & | SHEOAT b1 SR e Ul U St T 4,00,00,000 ot | TR AGgeehi ISR
TR A & TAT ST FHYHR I o UHIOT &35 o foehrd & feld et = ST et § ue
T URENE SIS T AT 1 F0M foran | et 3 ofgr, SR aen 99 | Hiere fosrd
5T Bl TITTT T ot (0T foran | 7ot el i sTewaehdrati ol I & & foTq Her =
% 10 9% % 1,00,000 T 37T @21 % 100 9% % 10,000, 9% FOTGA 6 R i Fo™
foram | RoTos 1 e 9T o o qeETd BT A7 | GEAT SR q=T RO A A e §
IS & 7T | 1000 379N T Ueh SRR I 2 Ui 3797 Bl T8 AT M BT PTA A
T %A @ |

ST ST, 2013 S G 11 & WEEFT o STER BT o [efd foeror § 3ier gof
T HITT | UG febel 31 Gt b Tear o ity ’18 et o shem =t € |
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Akash Ltd. is registered with an authorized Capital of X 8,00,00,000 divided into equity
shares of ¥ 10 each. Subscribed and fully paid up share capital of the company was
T 4,00,00,000. For providing employment to the local youth and for the development of
the rural areas of the Jammu and Kashmir State the company decided to set up a food
processing unit in Anantnag district. The Company also decided to open skill
development centres in Ladakh, Srinagar and Punch. To meet its new financial
requirements the company decided to issue 1,00,000 equity shares of I 10 each and
10,000, 9% debentures of I 100 each. The debentures were redeemable after five years.
The issue of equity shares and debentures was fully subscribed. A shareholder holding

1,000 shares failed to pay the final call of X 2 per share.

Present the share capital in the Balance Sheet of the company as per the provisions
of Schedule III of the Companies Act, 2013. Also, identify any two values that the

company wishes to propagate.

10. g fafee 7 &, famee @ vl &1 3 fear | o fafiee 3 & foafiee &t = wer |
A fopat
(i) T 10 Y% % 5,000 AT 7 BT 30% F A W FiHT e |
(i) ¥ 100 v & 1000, 8% T 1 10% F ¢ W HT ek |
(iii) 31 T 48,000 T 51 HIE G 37 Teh WA= ST |
e forfive = T D A F AT e A A S e
yfafted! HIT | 3
Z 1.td. purchased machinery from K Ltd. Z Ltd. paid K Ltd as follows :
(i) By issuing 5,000 equity shares of ¥ 10 each at a premium of 30%.
(i) By issuing 1000, 8% Debentures of X 100 each at a discount of 10%.
(iii) Balance by giving a promissory note of < 48,000 payable after two months.

Pass necessary journal entries for the purchase of machinery and payment to K Ltd. in

the books of Z Ltd.
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1.

T E :
Dr. HET T S G Cr.
fafer faazor T fafer faawor T
3 3
2016 2016

=30 | ... 4,000[3W 1| 1,00,000
............... - |30 | 6,000
............... - oo | 90,000
............... 40,000
............... 20,000
2,56,000 2,56,000

R N g

67112 6

TR, HIT AT TS Ueh FH o ASGR & G272 : 2 ¢ 1 % 7 § o sted & | &5 3707
TS Ufd 99 31 W & 91 Bl § | 30 TR, 2016 P U H @ & T | WEER!

Torg T Wa o i et TEiRR 9o W S8 e i e 37 8

(1) 3%k ISt @I & 9 T Gsht W 12% e &t | 1-4-2016 S 5T % Ysit @t

9 T 1,00,000 9T |

(2) TG H T H FH & A | IHH 90, G geaie et ad & fasha T Ig @ &
T W T STET ST 6 25% ot 1 30 faawer, 2016 T ®H =1 fospa T 9,00,000 &7 |

(3) WH I @A | SHT 9T | TEIT T G W HH R BAM 1 e < 1,50,000 T

RIEI

TERR! Toig | I8 Hf Mag o1 6 G EER & 57 AT § § F= 0 et b S

(1) TG & a9 | 3THT M | 30 G, 2016 T HIT T 30T T 4,000 o7 |

(2) 3R W 6% &Nt s fSTEe! 0T T 120 i T2 |

T & fToAEe o TR A & T W % oREdTet J HET 6 @I GAR fRar W] Steal §
3T T 3TV DI G | B & IEUTeT FRT AAR ThAT T4 WL Ry St @t A v fohar




Sandeep, Mandeep and Amandeep were partners in a firm sharing profits in the ratio of
2 : 2 : 1. The firm closes its books on 31% March every year. On 30" September, 2016
Mandeep died. The partnership deed provided that on the death of a partner his

executors will be entitled to the following :

(1) Balance in his capital account and interest @ 12% p.a. on capital. On 1-4-2016 the
balance in Mandeep’s Capital Account was 3 1,00,000.

(2) His share in the profits of the firm in the year of his death which will be calculated
on the basis of rate of net profit on sales of the previous year which was 25%. The

sales of the firm till 30" September, 2016 were < 9,00,000.

(3) His share in the goodwill of the firm. The goodwill of the firm on Mandeep’s
death was valued at ¥ 1,50,000.

The partnership deed also provided that the following deductions will be made from the

amount payable to the executor of the deceased partner :

(1) His drawings in the year of his death. Mandeep’s drawings till 30" September,
2016 were < 4,000.

(2) Interest on drawings @ 6% per annum which was calculated as ¥ 120.

The accountant of the firm prepared Mandeep’s Capital Account to be presented to the

executor of Mandeep but in a hurry he left it incomplete. Madeep’s capital Account

prepared by Accountant of the firm is shown below :

Dr. Mandeep’s Capital Account Cr.

Date Particulars | Amount | Date Particulars | Amount
4 4
2016 2016

Sep.30 | i 4,000|April 1 | ...l 1,00,000
L - Sep.30 | ..eiiiiinnnl. 6,000
e - L T 90,000
A 40,000
A 20,000
2,56,000 2,56,000

You are required to complete Mandeep’s Capital Account.
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12. & T 601 Uh ®H & WIIGR & qAT 1 : 2 & AT H AN died & | 3! T $Si sHwn:
% 2,00,000 TT % 3,00,000 & | 1 31U, 2016 I THA BN A 3 1/4 9HT % [0 T F00
TEIRR T T | SRR o7t Oeit % feTe 3 2,00,000 T T S @ %07 ot Tl
TE T T@T ST o7 | fheiiT 3 & T 37T ST 60T & W fohT |
ToheTY o TeleT TX H ! T i TUMT IS T2 3, ST T (MY o 78 & ST i
T ST | TR o 7aer W =Afq & @i & foiu STaass JAsHHeT Hfafte ot sife,
Tg A gU 1o fhei Tt Stferemmss &1 SToAT 9iT 1% =iel o |

Karan and Varun were partners in a firm sharing profits and losses in the ratio of

1 : 2. Their fixed capitals were I 2,00,000 and ¥ 3,00,000 respectively. On 1™ April,

1
2016 Kishore was admitted as a new partner for Zth share in the profits. Kishore brought

% 2,00,000 for his capital which was to be kept fixed like the capitals of Karan and
Varun. Kishore acquired his share of profit from Varun.

Calculate goodwill of the firm on Kishore’s admission and the new profit sharing ratio
of Karan, Varun and Kishore. Also, pass necessary Journal Entry for the treatment of
Goodwill on Kishore’s admission considering that Kishore did not bring his share of

goodwill premium in Cash.

13. M, T, Wied qo7 & Ush WY ok WERR S q 4 0 3 ;2 : 1 % U § oy sted & |
1-4-2016 =t 37hT Tl ToraRor fq Ushe 4 ot -

1-4-2016 T I\, A, e qT 71 &7 feafa foawor

i T et 9,00,000
™ 4,00,000 o] TRt 5,20,000
aeT  4,50,000
e 2,50,000
& 2.00,000 | 13,00,000

FTHTR &iqgf T 1,20,000

14,20,000 14,20,000
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STRIeRT At & QR 3 Ao Ao 1222 3 2 4 % U | dfe &6 (0 {61 | 38 3299
% ToT wH &7 =Ad & gedie € 1,80,000 oA | WERR 3 = % 9 | ot fom

forar :

(i) R &fdgfd 319 0 SEE 2 1,50,000 ST =T |

(i) o] WA Woldd TEERT H U B A oY Y B guEicTd wAr |

eI R WIT, WIRIERT 3 ST @I o Yo ®H o Rerfd foeror Gar i |

6

Ram, Mohan, Sohan and Hari were partners in a firm sharing profits in the ratio of

4:3:2:1.0n 1-4-2016 their Balance Sheet was as follows :

Balance Sheet of Ram, Mohan, Sohan and Hari as on 1-4-2016

Amount Amount
Liabilities Assets
4 4
Capitals : Fixed Assets 9,00,000
Ram 4,00,000 Current Assets 5,20,000
Mohan 4,50,000
Sohan  2,50,000
Hari 2.00,000 13,00,000
Workmen
Compensation Reserve 1,20,000
14,20,000 14,20,000

From the above date the partners decided to share the future profits in the ratio of

1:2:3:4. For this purpose the goodwill of the firm was valued at I 1,80,000. The

partners also agreed for the following :

(i) The claim for workmen compensation has been estimated at ¥ 1,50,000.

(i) Adjust the capitals of the partners according to new profit sharing ratio by

opening partner’s current accounts.

Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.

[P.T.O.
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15.
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1-4-2015 =t St &t wer. fafes 7 T 100 9% % 1000, 9% FOT9E & 10 6% & 93 T
foram | SHOTTAT T S T St % 9T 10% % ST W HAT § |

31-3-2016 S T §T a9 % TIT RO & 1T T&1 FOTTH W A0S 6 Waredr a8 [
TC FIT foF =1 30 faare) @or 31 OT9 # 3F § q€1 |G W H FHr B 3T 10% € |
FHET ST TETh AT 31 HTE i & HIAl § |

On 1-4-2015 V.V.L. Ltd issued 1000, 9% debentures of ¥ 100 each at a discount of

6%, redeemable at a premium of 10% after three years.

Pass necessary journal entries for the issue of debentures and debenture interest for the
year ended 31-3-2016, assuming that interest is payable on 30" September and
31% March and the rate of tax deducted at source is 10%. The company closes its

books on 31* March every year.

Teh AR & % foae & q0 (= STaenet § 3Teydeh JSHEdT Uiarear iy :

(i) TS WEER, T, H fgaeT ufwan & @@ & fow fgea e @ fae o s
% 10,000 =a feam T |

(i) WERR, T 7 T 8,000 foaeT =g &1 e o |

(iii) ferered == ¥ 5,000 & |

(iv) TERR, W, S foee ufwar &t @@  fow g fear mar e fore 38 3 7,000
AT 3T A1 | Y. foaed =99 96 FRA & ol Yerd gan | St e =@ T 4,000
o | SeRT e |t IR fekam T |

(v) TS 9ERER, T, F faged @ & suv@ & o fgea e mr S f@e s@ 29,000
AT T A | TF {qued A Hl g6 I W GeHd gol | At [deHed &
T 4,000 T SJTAM HH FRT {62 7= |

(vi) T WERR, 7, H GueT ufkar & sav@ % o fge e mr | o for sa
% 18,000 39 3T a1 | Y T 18,000 F Wik Bl A P &I H o+ Bl TeAd T |
i 1 TEel & SEell @I # SR Y 53T T 2T |

Pass necessary Journal Entries on the dissolution of a partnership firm in the following

cases :

(1) L, apartner, was appointed to look after the dissolution process for which he was
given a remuneration of ¥ 10,000.

(i) Dissolution expenses T 8,000 were paid by the partner, M.

(iii) Dissolution expenses were < 5,000.

(iv) P, a partner, was appointed to look after the process of dissolution for which he
was allowed a remuneration of I 7,000. P agreed to bear the dissolution
expenses. Actual dissolution expenses < 4,000 were paid by P

(v) N, a partner, was appointed to look after the process of dissolution for which he
was allowed a remuneration of ¥ 9,000. N agreed to bear the dissolution
expenses. Actual dissolution expenses < 4,000 were paid by the firm.
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(vi) Q a partner was appointed to look after the process of dissolution for which he
was allowed a remuneration of I 18,000. Q agreed to take over stock worth
¥ 18,000 as his remuneration. The stock had already been transferred to
Realisation Account.

16. TUET. fafee 7 % 10 7% % 1,00,000 FHAT ST i T 6 Ui 32 3 ey o¥ R
FHH & TeTT MMag b o2 | T o7 e 97 Wb | e o
TR W % 4 7fd & (% 2 AT |iea)
3TTeed W T 5 Ul 3797 (3 2 ST Wied)
T T W T 4 uid 3197 (T 2 3Ty died)
TE AT 3 AT W — I qwer
WW:W&W@WI
400 79T % UH €N, FUR, 7 3Tee TRT HT P 0 {haT T2 1000 370 & TH gRb,
I, 7 3TEeA AR % T WRI SRR 1 A X AT | 3TeeA & e 99 FAR &
37T T B0T Y {oTaT AT Sqeh U¥aTe] Word FreT 19T /il 718 1 300 391 % Ush gReh, T, =
T AT T T STAT el {ohaT T 600 379N o Ueh €, TITet, = Jee AT T o |1
T AT ML BT A IAF 6 AT | T2 AT TRT W o G gl Tl & 3T hr
TOT ST foTal T | Sk Tt SEdt ad A A A /el T | Ry Areen A WS
Tuf T U7 & T |
207 TRt 3 |t 37en i T 9 wf 31T qut ue 4 Fitea Y T
ST TASAT o ToTT FHEIHT 3t GRAhT | ST IS et Hie |
rerar
TR, s 7 ¥ 10 9% & 1,00,000 FHT S0 AT W FHd & & o

3R ST [ | T A i TR | T o7

3T WX 3 3 il 379

ee WX % 4 Ui 379

TR AT A Fra 9 % 3 Ui A |
e & AT St e g3 | 20% 3TEN % SMERAT P T B (K97 AT qAT AT 9T
M FT TS | 9T SMATHT i+ TR T 377eie T 7

q&n
I 1,60,000 80,000
II 80,000 20,000

AT TR YT AR T BT GHTAIS e qAT T Ue A redT I 37 TRT § Y
foram mar | @dt FreET 9T S TE q9r W @ T, S [ % U STvURe i BIgwR S 320
32T o 70 TTeR TohalT o7 | 36k 3TRT T 807 oK fordll T | 82T fohd T et &t % 15 Wi
3797 9O w9 Fifea oY fear e |

ST Tl & ot teaue, fafee &t gt o oTavas IS viatedt S |

SATERISATTHAR ST JTAAT WIAT qqT T T @It GII(\Q’U{ | 8
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AXN Ltd. invited applications for issuing 1,00,000 equity shares of ¥ 10 each at a
premium of ¥ 6 per share. The amount was payable as follows :

On Application ¥ 4 per share (including ¥ 2 premium).
On Allotment ¥ 5 per share (including ¥ 2 premium).
On First Call X 4 per share (including ¥ 2 premium).
On Second and Final Call — Balance Amount.

The issue was fully subscribed.

Kumar the holder of 400 shares did not pay the allotment money and Ravi the
holder of 1,000 shares paid his entire share money alongwith allotment money.
Kumar’s shares were forfeited immediately after allotment. Afterwards first call was
made. Gupta a holder of 300 shares failed to pay the first call money and Gopal a
holder of 600 shares paid the second call money also alongwith first call. Gupta’s
shares were forfeited immediately after the first call. Second and final call was made
afterwards. The whole amount due on second call was received.

All the forfeited shares were re-issued at I 9 per share fully paid up.

Pass necessary Journal Entries for the above transactions in the books of the company.
OR

XL Ltd. invited applications for issuing 1,00,000 equity shares of I 10 each at par. The

amount was payable as follows :
On Application ¥ 3 per share.
On Allotment % 4 per share.
On First and Final Call ¥ 3 per share.

The issue was over-subscribed by three times. Applications for 20% shares were
rejected and the money refunded. Allotment was made to the remaining applicants as

follows :
Category No. of Shares Applied No. of Shares Allotted
I 1,60,000 80,000

I 80,000 20,000

Excess money received with applications was adjusted towards sums due on

allotment and first and final call. All calls were made and were duly received except
12



the final call by a shareholder belonging to Category I who has applied for 320 shares.
His shares were forfeited. The forfeited shares were re-issued at I 15 per share fully

paid up.

Pass necessary Journal entries for the above transactions in the book of XL Ltd.

open calls in-arrears and calls in advance account whenever required.

17. S&g a1 3R U ®H o HERR & a4 3 : 2 & 31U d oy sied & | 31 97, 2016 1 SH
Terfe foreror i Usp §

31-3-2016 T TG AAT AW HT AT fawor

- wifyr ot wifer
4 4
fafir= oFsR 20,000 | IS 12,000
I FOT & feTT TTaem 2,000 | TRR 18,000
3T o 3,000 | €& 20,000
= S9g 5,000 | ®HER 40,000
IS AR AT TR 40,000
=g 60,000
AR 40,000 | 1,00,000
1,30,000 1,30,000

SURre Tt &ht, T 91t o Q1§ Bl 19 o 1/6 91T o [T Ueh 47 FEie S=7aT 74T

() I 7o STt % fetw ¥ 30,000 T T W % 319H 9T % e 10,000 R,
TSTERT 3TT4T AT Socg T 3T 5T TR0 T fodl SR |

(i) ¥ 1,500 F SAERT I TIA FON b T H NG Y 53T STRAT q4T S8RT U Fierg
TS gad FON & foTT 5% 1 TTEE o ST |

(iii) 3T ST T T FHY AT ST |

(iv) TH W 10%, TR W T 500 TT T T4 TN-RI T 8% Joagrd TRl ST |

(v) Tt foeror § =&t 9 T ¥ 2,500 % e o o femar S |

(vi) 2,100 T T SR, [T oar Qe § el fohar T €, 1 ot R S |

HH DT GEIRT H G, o YA T ST TS & (o0 STewaeh IS Ut it |
AT
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TY, T 1 ST U %H & TR & 41 5 ¢ 3 : 2 % U H oy dfed o | 31 114, 2016 i

3o Ferfa foeror T U 9 o -

31-3-2016 o TH.UA, 74T it 1 feafa faawor

TR’ 55,000 | YHE 40,000

qE= GO 30,000 | IER 45,000
LEiRCIcE T ATEE 5,000 | 40,000
™ 1,50,000 i 50,000
I 1,25,000 TR 1,50,000
Sl 75,000 | 3,50,000 | THE 30,000
CE 1,00,000
TY-EI @ 25,000
4,35,000 4,35,000

SRR fafer Bt uw = Wm%mwﬁmwwﬁgé

(i) ¥ 2,000 % IASRT I Zad FOT % €T H ARG AT SR TAT SART I Figry qen
T RN o T W 5% U I@T ST |

(i) TR Fl UId: STATIRad fhaT STRIT e Teieh, TR Ua a9 W 5% Heagd o
ST |

(i) ¥ 10,000 1 TF TG, FTHT Tl &l a1 7T &, M oIl {6l ST |

(iv) UF q1 ST 9T § o 2 ¢ 3 % U | S |

(v) U % TEHRT YUl A I HH ! BN 1 Jodisw < 3,00,000 fFam mar |

TR % STEHRT eV T T SIS A1 & [oTT HH i J&IH § STEvgeh AT Hiafeat

HIT |

W and R are partners in a firm sharing profits in the ratio of 3 : 2. Their Balance Sheet
as on 31 March, 2016 was as follows :

Balance Sheet of W and R as on 31-3-2016

Liabilities Amount Assets Amount
4 4
Sundry Creditors 20,000 | Cash 12,000
Provision for Bad Debts 2,000 | Debtors 18,000
Outstanding Salary 3,000 | Stock 20,000
General Reserve 5,000 | Furniture 40,000
Capitals : Plant & Machinery 40,000
w 60,000

R 40,000 | 1,00,000

1,30,000 1,30,000

67/1/2 14
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I th
On the above date C was admitted for gt share in the profits on the following terms :

(i) C will bring ¥ 30,000 as his capital and ¥ 10,000 for his share of goodwill
premium, half of which will be withdrawn by W and R.

(i) Debtors ¥ 1,500 will be written off as bad debts and a provision of 5% will be
created for bad and doubtful debts.

(111) Outstanding salary will be paid off.

(iv) Stock will be depreciated by 10%, furniture by ¥ 500 and Plant and Machinery
by 8%.

(v) Investments I 2,500 not mentioned in the balance sheet were to be taken into
account.

(vi) A creditor of ¥ 2,100 not recorded in the books was to be taken into account.

Pass necessary Journal Entries for the above transactions in the books of the firm
on C’s admission.

OR

M, N and G were partners in a firm sharing profits and losses in the ratio of 5:3:2. On
31-3-2016 their Balance Sheet was as under :

Balance Sheet of M, N and G as on 31-3-2016

Liabilities Amount Assets Amount
4 4

Creditors 55,000 | Cash 40,000
General Reserve 30,000 | Debtors 45,000

Capitals : Less Provision _ 5,000 40,000

M 1,50,000 Stock 50,000

N 1,25,000 Machinery 1,50,000

G 75,000 | 3,50,000 | Patents 30,000

Building 1,00,000

Profit & Loss A/c 25,000

4,35,000 4,35,000

M retired on the above date and it was agreed that :

(i) Debtors of ¥ 2,000 will be written off as bad debts and a provision of 5% on
debtors for bad and doubtful debts will be maintained.

(i) Patents will be completely written off and stock, machinery and building will be
depreciated by 5%.

(iii)) An unrecorded creditor of 310,000 will be taken into account.

(iv) N and G will share the future profits in the ratio of 2 : 3.

(v)  Goodwill of the firm on M’s retirement was valued at ¥ 3,00,000.

Pass necessary Journal Entries for the above transactions in the books of the firm on
M’s retirement.
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19.

20.

21.

67/1/2

gug - g
PART - B
faea - 1
Option - I
(faita faazutt @t faverwom)
(Analysis of Financial Statements)

TS TS Yhe o Hl BIEH Y& HALNG Yot § FHH YaieH Tararad | Jhg TaTg
TETU, T 37T THH s TRET el e | 30 IR o THeH | HROT T |

‘Net decrease in working capital other than cash and cash equivalents’ will increase,

decrease or not change cash flow from operating activities. Give reason in support of

your anSwer.

UhHg YA [TaRvl AR i 9 “SATST Uel o197 o ST Ua Wi ht” o5 Ieh et Tifafarey
AT ST & 2

‘Payment and Receipt of interest and dividend’ is classified as which type of activity
while preparing cash flow statement ?

Torier Tt & favetoor =6t fohel IR HHreti 1 Seoig it |

State any four limitations of analysis of financial statements.

AR e T Bid &, &= § T AR T S & | 3 foawor vt G-t 6t &
B € STk SR W U ST i oy Ue fai fefa o foug o fepd fehret s aend
& Ik T STATRAT S ST & TH Toh AT SHBT SUANT 37U eIk (o | 37efqut
T H Th |

ST o ¥ U =l I Jodi Bl TedH DT S e et ot & oo o
freRUT TR S THT TG AIET | 8 off Seoi@ hifsTy foh st stfafT=m, 2013 st gt 111
% AR U H & fefd fgerer & f w=i ot fo-f g iiveshi qen Su-vide &
ST JRIAT SR |

T T, TTY-31are 0T a2 1m, USTa 1 Wit oY qen feste |
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Financial statements are prepared following the consistent accounting concepts,
principles, procedures and also the legal environment in which the business
organizations operate. These statements are the sources of information on the basis of
which conclusions are drawn about the profitability and financial position of a
company so that their users can easily understand and use them in their economic

decisions in a meaningful way.

From the above statement identify any two values that a company should observe
while preparing its financial statements. Also state under which major headings and
sub-headings the following items will be presented in the balance sheet of a company

as per Schedule III of the Companies Act 2013.
General Reserves, short term loans and advances, Capital work in progress and design.

S .

22. UH FHEA! H A AT 0.8 : 1 & | FROT Wled IR o FEfarad e 9 alerd]

JTITA TS, T 3T THH hie YR Fal aim

(1) 2,000 % TEIT 3SR 1 56T |
(2) %500 YErET AT HHTH FH P |
(3) 3,000 % AT T SUR {6 |

(4) 5,000 % T <7 foIet 1 36 TRUS & T YA | 4

The Quick ratio of a company is 0.8 : 1. State with reason whether the following

transactions will increase, decrease or not change the quick ratio :
(1)  Purchase of loose tools ¥ 2,000.

(2) Insurance premium paid in advance I 500.

(3) Sale of goods on credit X 3,000.

(4) Honoured a bills payable X 5,000 on maturity.

67/1/2 17 [P.T.O.



23.

67/1/2

31 9, 2016 i R.TH. e o1 fefa faeror e a9 o
AR Tw. fafwes &t 31 A, 2016 w1 Reafa faeror

P =ﬁ?: 31-3-2016 | 31-3-2015
9. 4 4
[ |EAT T SgaTt
(1)  3ferery fafemat
(a) 39T At 9,00,000 |  7,00,000
(b) Tu Ud I 1 2,50,000 |  1,00,000
(2)  Freet g
HeEAEiEieny) 2 4,50,000 | 3,50,000
(3) =] sEa
(a) TG 0T 3 1,50,000 75,000
(b) T W€ 4 2,00,000 | 1,25,000
T 19,50,000 | 13,50,000
II. ufamtaat
(1) 3=t et
(a) T gt
(i) W 5 14,65,000 | 9,15,000
(i) o 6 1,00,000 | 1,50,000
(b) 3= faeT 1,50,000 |  1,00,000
(2) o] UREEEr
(a) = T 40,000 70,000
(b) TP (T 7 1,22,000 72,000
(c) Ihg TqAT Uchg Jod 73,000 43,000
E] 19,50,000 | 13,50,000
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i A

=ﬁ;— o 31-3-2016 | 31-3-2015
9, £4 E4
1. | 9o ud onfye (SMfye w-g1iq foeror &
L)) 2,50,000 | 1,00,000
2,50,000 | 1,00,000
2. | SR ROT — 12% O 4,50,000 | 3,50,000
4,50,000 | 3,50,000
3. | ST T — S Srfefoey 1,50,000 75,000
1,50,000 75,000
4. | TIHAA WL — TATTTT AT 2,00,000 | 1,25,000
2,00,000 | 1,25,000
5. | gt uimtoat
T 16,75,000 | 10,55,000
THET Jode™ (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
6. | o wEatEt
=ia 1,00,000 | 1,50,000
1,00,000 | 1,50,000
7. | =i @rergEn
w2 (fesht & forw AmeT) 1,22,000 72,000
1,22,000 72,000
FAfaTRe g
(1) % 1,00,000, 12% o=t 1 F9T 31-3-2016 1 {637 74T |

(2)
Z 10,000 <ht B 9T s=T T4 |

67/1/2

o [a¥a)
{hg UdTE a0 qdiT (ST |
19

a9 H U T STt e 3 80,000 o qr ™ W THET Jodw™ < 40,000 o7 H
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Following is the Balance Sheet of R.S. Ltd as at 31% March, 2016 :
R.S. Ltd. Balance Sheet as at 31-3-2016

Particulars Note | 31-3-2016 | 31-3-2015
No. z z
L Equity and Liabilities
(1) Shareholder’s Funds
(a)  Share Capital 9,00,000 7,00,000
(b) Reserves and Surplus 1 2,50,000 1,00,000
(2) Non-current Liabilities
Long-term borrowings 2 4,50,000 3,50,000
(3) Current Liabilities
(a)  Short-term borrowings 3 1,50,000 75,000
(b)  Short-term provisions 4 2,00,000 1,25,000
Total 19,50,000 | 13,50,000
II.  Assets
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible 5 14,65,000 9,15,000
(i) Intangible 6 1,00,000 1,50,000
(b) Non-current Investments 1,50,000 1,00,000
(2) Current Assets
(a) Current Investments 40,000 70,000
(b) Inventories 7 1,22,000 72,000
(c) Cash and Cash Equivalents 73,000 43,000
Total 19,50,000 | 13,50,000

20
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Notes to Accounts :

Note 31-3-2016 | 31-3-2015
Particulars
No. 4 4
1. | Reserves and Surplus (Surplus i.e. Balance
in the Statement of Profit and Loss) 2,50,000 1,00,000
2,50,000 | 1,00,000
2. | Long-term borrowings — 12% Debentures 4,50,000 | 3,50,000
4,50,000 | 3,50,000
3. Short-term borrowings — Bank overdraft 1,50,000 75,000
1,50,000 75,000
4. Short-term provisions — Proposed Dividend 2,00,000 1,25,000
2,00,000 | 1,25,000
5. | Tangible Assets
Machinery 16,75,000 | 10,55,000
Accumulated Depreciation (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
6. | Intangible Assets
Goodwill 1,00,000 1,50,000
1,00,000 | 1,50,000
7. | Inventories
Stock in trade 1,22,000 72,000
1,22,000 72,000

Additional Information :

ey
2)

% 1,00,000, 12% Debentures were issued on 31-3-2016.
During the year a piece of machinery costing ¥ 80,000, on which accumulated

depreciation was I 40,000, was sold at a loss of ¥ 10,000.
Prepare a Cash Flow Statement.

21
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18.

19.

20.

21.

22.

que-g
PART - B
fawea - 11
Option - I1I
(et fer eraie)

(Computerized Accounting)

T AT H R I F 9

What is a ‘Database’ ?

SAThEl T TS, WIShATT T STIHUT oTeliet diish & i | UgeRT Wieaa o el Q1 adiehl o
¥ 9dqreu |

Name any two software tools for organizing, processing and querying data in flexible

manner.

AR TEieh WA & fohel T ol i GHSET |

Explain any four advantages of computerized accounting software.

G S T Y § 9 NoeTe B WERe w § R TR e § 0

What is meant by a “Form” ? How ‘Split Form’ is different from ‘Simple Form’ ?

RS o 3 YR T A Sl ¢ FHEY S Tgsuanmsharsti qan fafm= wmt o et g
IS AT TSHAT T TETharat st gid i & |

Name and explain the type of software which meets the requirements of large business

organizations with multi-users and scattered locations.
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23. HENHA RHERT i gREtdd FR= & o, T S aret =0T % Sooid iU |

State the steps to be followed to change ‘Conditional Formatting’.

67/1/2 23



67/1/2

24



